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Note :

General Instructions :

(i)

(ii)

§22)

(iv)

(v)

(vi)

Any one of the following areas can be offered :

(i) Elements of Business.

(ii)  Elements of Book-Keeping and Accountancy.
(iii)  Typewriting (Theory) English or Hindi.

For Typewriting (Theory) English or Hindi (Max. Time : 2 Hours
and Max. Marks :'20).

Frr & @ &I u& 499 frar s a%dr 8

i) T F = |

(i)  FERGrr o dEFT F a |

(iii) 2T (fagr=7) — 33 ear fa=7 |

ggr  (Ragr) - sigs Frgar ol & fow (3fF%maw wmy ;2§92 aer
s e : 20) |

¢)) ,El}ements of Business

Tifosg & T

This part has 86 questions in all.
All questions are compulsory.

Questions from serial no. 1 to 16 are Multiple Choice Questions
carrying one mark each. These are to be answered by writing the
correct option in your answer-book.

Questions from serial no. 17 to 32 carry 8 marks each. Answers to
such questions should not exceed 10 words.

Questions from serial no. 33 to 36 carry 4 marks each. Answers to
such questions should not exceed 150 words.

Attempt all parts of a question together.

qmr [718r
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Gii) 599 G&I 1 8 16 % Fglaswedty 399 & 5t 59% UF 3% F§ | 3 T
Tgl fwey & 3T Yfeasr ¥ foaar 8

(iv) yvT GET 17 § 82 T IOF 59T 3 376/#&7?/3737???%36?10 Wd‘r

q %% & T8 & AT |

(v) 5§97 GEIT 33 § 86 % YAF FvT 4 3 & & | 37 ¥ & A€ 150 V=)
@ I F TE g TR

(i) TF 597 & 94 977 U 917 & F6 & !

Which of the following is a source of long term finance ? 1
(A) Cash credit

(B) Bank overdraft

(C) Issue of shares

(D) Loan from friends for one year

frfafed 8 ¥ Adeen o & @id S 8 ?

(A) e S
(B) o fufasd
(C) =9 &1 ffa=

(D) @ g = =

“Which of the following is the source of finance of Owned Fund ? 1

(A) Long term loan from Bank
(B) Retained earnings
(C) Loan from LIC

(D) Issue of Debentures
frfofied ¥ ¥ @rig S o e Ed Sar g 2

(A &% F Jefwel w=o
B) wiamRa e

(C) Sraa dmr frg @ w0
(D) ForwE & ffmE
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Issue of Debentures is a source of finance for
(A) Cooperative Societies

(B) Private Limited Companies

(C) Joint Stock Companies

(D) Partnership Firms

o @ i fele B @

(A) weH gfufad =6t

B) e d9ifg (fafide) sl =

(C) ¥y ISt wrafl &

(D) OREH wH &

Which of the following is an external source of finance ?
(A) Issue of Shares .

(B) Loan from State Finance Corporation

(C) Ploughing back of profit

(D) Issue of Bonus Shares

frafafaa § @ fag @& 9@ & s 8 2

(A) iy ffam
(B) T¥ fgu fom (VT S SRIRYE) ¥ F=07
(C) & & qHffESH

(D) @9 3l & friew

Which of the following is a source of short term finance ?
(A)  Bank overdraft

(B) Loan from Development Bank. of India

(C)  Public deposits

(D) Issue of Debentures

frafefad 8 ¥ stcuseid o & i ST 8 2

(A)  d% srfufasy
B) YA fawE 9% 9 =0
(C) <+ f&y

(D) T & fEe



Stock Exchange is a market where
(A)  Buildings are bought and sold
(B) Goodwill is bought and sold

(C) Securities are bbught and sold
(D) Furniture is bought and sold
@y fquitT (Wis WEa=) T a5 8 el
(A) TR # HY-fasma g @

(B) @ &1 w9-faska & 2

(C) wfryfedi &1 wa-foa dar @

(D) AR w1 wa-fpra g @

A Sole Trader arranges long term finance through
(A)  Issue of Shares

(B) Issue of Debentures

(C) Own Capital Investment

(D) Credit purchase of goods

TEE SO AdEe g @ sgee o 8

(A) v frfm gr

(B) o ff g

(C) @& F G fafw=m g7

(D) ¥ & IER HI

Which of the following is a negotiable instrument ?
(A) Cash Memo of goods purchase

(B) Bills of Exchange

(C) Proforma Invoice

(D) Pay in Slip

frfafed § ¥ wohma e s @ 2

(A " HF E TRg Wi

B) fafmg o

©) e 5w
(D) mr H wE
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Banking facility enabling customers to deposit or withdraw cash
several times during a day is provided in

(A) Fixed Deposit Alc

(B) Savings Bank A/c

(C)  Recurring Deposit A/c

(D) Current A/c

Th e G H o aR Y S A G S AR A e 5 gl

B g & Sl @
(A) wEfy S @ §

(B) =ud d% @ #
(C) oy=d s @d #
(D) = @« #§

A cheque is issued on 1%* March 2011 and it bears the date 20 August
2010. It will be called

(A) Ante-dated cheque

(B) Post-dated cheque

(C) Mutilated cheque

(D) Stale cheque

@éas1@zo1laﬁﬁvﬁamwaﬁrwwzowzomﬁmﬁ@
213 Fn

A A 9
(B) Iw-fAifed 3%
©) foga 9=

(D) T IHR 4%

Which of the folloWing is a primary function of a Bank ?
(A) . Accepting deposits

(B) Providing locker facility

(C) Giving references to the customers

(D) Agency work

frafafaa § @ 9% & g S S 8 2

(A) S WHR & ‘

(B) @i &I Geoen y&H HT

(C) w@w & TH 3

(D) T wE
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Banking facility enabling customers to deposit or withdraw cash
several times during a day is provided in

(A) Fixed Deposit Alc

(B) Savings Bank Alc

(C) Recurring Deposit Alc

(D) Current Alc

@Wﬁﬁ?qmmﬁWWWHmmwﬁmwﬁawﬁﬁgﬁm

S g & S @
(A) gEfg s @ Ao

(B) wud 9% @ #
(C) 3nadf s @ #
(D) = @ #

A cheque is issued on 1°® March 2011 and it bears the date 20" August
2010. It will be called

(A) Ante-dated cheque

(B) Post-dated cheque

(C) Mutilated cheque

(D)  Stale cheque

qass‘?esmﬁzouaﬁﬁﬁﬁmﬁmwaﬁxwmzemzomaﬁaﬂ@m
7138 Fh

(A -t 9
(B) IW-feifra 9%
C) faga d%

(D) U IHR T

Which of the folloWing is a primary function of a Bank ?
(A) . Accepting deposits

(B) Providing locker facility

(C)  Giving references to the customers

(D) Agency work

frmfafaa & @ d6 & go7 = @ g 2

(A) W SR & ‘

(B) @ &I glayr y&9 HE

©) e & R

(D) we A
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A cheque which is not payable on presentation to the Bank but
credited in the account of the payee is called 1
(A) Order cheque

(B) Bearer cheque

(C) Crossed cheque

(D) Mutilated cheque

TF A% fww 9% ¥y 70 W g T e s g e % e
¥ ST R ST 8, sEdr 2

A) IR 9% |

(B) & 9%

(C©) Yuif 3=

(D) fogpr <

The account on which Banks allow interest on deposits at highest rate

is called : 1

(A) Current Deposit A/c
(B) Fixed Deposit A/c
(C)  Recurring A/c

(D) Savings Bank A/c

S W SR g Sfusan = g @[ ¥ G S 8, S9@ AW @
(A) = W E

(B) wEfy SHT @

(C) smaEdr @ren

(D) wud o% @i

A leaf by which the customers deposit their money in Bank is called 1
(A) ATM

(B) Withdrawal form

(& | Cheque

(D) Pay in slip
TR F A A T MR H & fe s o Al ol w1 oAm e e

(A) TaTm.

B) o Frrdh wid
© ¥

(D) S o e

7 P.T.O.
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Which of the following is a Private Sector Bank ?
(A) Punjab National Bank

(B) Central Bank of India

(C) Sarswat Bank Ltd.

- (D) Reserve Bank of India

frafafea & 9 ol &9 & 9% s € ?
(A) o9 A3Ee dw

(B) d=d d% % 3w

(C) w4 §% fafds

(D) fE d=% % sfvsa

The instrument through which a customer orders to his/her Bank to
pay the amount written in the instrument to the bearer is

(A) Bill of Exchange
(B) Cheque
(C) Bank Draft

(D) Promissory Note
T 98 U ¢ TS e ¥ UE 9Rd o S % g9 ¥ fafd gl @ uwes
FOPTAE FA F IR I E

A) fofma o3
(B) ==

C) % g

(D) ofesm =@

Explaih in brief any three factors determining the Fixed Capital.

Rt S # feifa w9 9 R 99 oses @ dae § aeeRT |

State the main functions of Industrial Finance Corporation of India
Ltd. :
g s fm fm (srefead wedy @ieE ot sftear fafde) & q=
%4 FaR |

Define Shares and explain any two characteristics of Preference
Shares.
e W uRwfim FNT qw @il ewl @ R 9 vl & swen
T |




20.

21.

22.

23.

24.

25.
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27.

28.
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Explain any three disadvantages of the Debenture issue to the
company.

BUqE frfgg @ s @ 2R Tl R IR efEl % weemsy |

Explain any three essential features of Stock Exchange.

wy fquftt & fedl dF eifard ool & s men wiNT |

Explain in brief (i) Commerical Banks and (ii) Agricultural Banks.

(i) afoisae S goar (i) ST S & 989 ¥ gueme |

Explain any three functions of Exchange Bank.

ot o% & o<l @9 & & gHgmE |

What is meant by Current Account ? Explain the names and uses of
the books and slips used in operation of this Account.

T @ H O IR B § 2 TH WR % YEeE ¥ oaW W Al (e e
ot & AW Fa gC ITET SaRT |

-Mrinal, a student of class XII, has attained the age of 18 years, and

wants to open a Savings Bank Account. Explain the procedure he will
have to adopt in opening this Account.

gonet, St 12 ke o 2, frE 18 3 I amg ww W o 2, 9F H s 9
T AT T ¢ | W WA R Giod & fau 39% FR ST WM el
FEfafy & g9ImET |

Explain any three main functions of Reserve Bank of India.

R ol 9% % 5 09 T wE # o $ie |

What is Electronic Banking ? Explain any two advantages of ATM
(Automated Teller Machine) to an Account holder.

i SR S & 7 UF EER # TALW. (IRRE SR WE) ¥ W am
e g & ol W gHERy |

What is a Bank Draft 7 Why is the payment made by a Bank Draft
considered better than the payment made by a cheque ? Explain.

9% W T AW T ? TE Uh T 9% TR TN FT C YEE H I
& THE S 8 ? SRy |

9 P.T.O.
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31.

32.

33.

34.

35.

36.
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Give the meaning of a Bill of Exchange and state its any four
characteristics.

memmmmﬁﬁwﬁﬁwﬁmmml

State any three differences between Darshani Hundi and Muddati
Hundi. ‘

W@waﬁ@ﬁﬁﬁ%aﬁmmi

Explain any six advantages of using cheques by business community.-

mwm%%m@@ﬁaﬁﬁ?ﬁwmﬁmi

What is meant by “Crossed Cheque” ? Explam in brief the different

types of crossing a cheque.

%@mﬁm”mwaﬁ@m%7@%ﬁ%@mmﬁﬁfwﬁmﬁraﬁ

‘WFS"II

In how many ways can money be placed in a Bank and how can it be
withdrawn in each case ? Explain.

émﬁmmﬁfwﬁmmmm%mmﬁﬁﬁm%@m
mm%7m§n§q|

What is the meaning of retiring a Bill of Exchange on rebate before

~ due date ? How does it differ from discounting a Bill of Exchange ?

Explain any three points.

_@Wwﬁwmwﬁaérﬁﬁaﬁﬁwmﬁ%7%®ﬁﬁw

wﬁa@wwﬁ@%ﬁﬁm%7ﬁé?ﬂ?ﬁﬁml

Differe_ntiate between Ownership capital and Borrowed capital. Give

. any four points of difference.

Wﬁiﬁﬂamwﬁsﬁﬁmﬁaaﬂﬁmrwéaﬁéwﬁ@aﬁql

Explam clearly any four demerits of Public Deposits as a source of

ﬁnance

ﬁﬁ%@ﬁ%@ﬁﬁﬁ@ﬁ%ﬁ%ﬁﬁﬂ@haﬁwml
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General Instructions :

(ii) Elements of Book-Keeping and Accountancy

TG qAT HE@HT F A

(1) This part has 32 questions in all.

(ii)  All questions are compulsory.

(1it) Questions from serial no. I to 16 are Multiple Choice Questions
carrying one mark each. These are to be answered by writing the
correct option in your answer-book.

(iv)  Attempt all parts of a question together.

AT R

(i) TG 9T H FT32 ¥ 8

Gi) &9 ¥e7 SHfET §

(i) ¥97 G 1 T 16 7% Tgfasciiy 397 £ 5l 79% 0F 3F FE | 30 @
TE famey @ 3w YRaer & forar 8

(iv) U 397 & 95 977 0% 97 & 3T & |

1. Bills are accepted by

(A)
(B)
)
(D)

Creditors
Debtors
Endorsers

Endorsee

forell W wiea & S @

(A)
(B)
(©)
(D)

35
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While retiring a bill under rebate, the account/accounts to be credited
in the books of drawee are

(A)
(B)
(C)
D)

Cash A/c and Rebate A/c
Bills Payable Account
Discount Alc

Only Rebate A/c

W e B R (RAT) FUe O R S 2, O wiered @ qem ¥ wwe
@Rl % S (credit) SR foerar Smr @

(A)
(B)
(&)
(D)

IEs @ aa w=X @ d
I faur @ §
/3T @ |

Fa w2 @ §

When a discounted Bill is dishonoured, the account to be debited in the
books of drawer is

(A)
B)

©)

(D)

Drawee

Bank

Bills Receivable
Bills Payable

S g2 W T §¢ T W e @ S 2, @ dus ) Twe § e
TR & 9 (debit) ¥ foar wmar 2, 9% 2

(A)
(B)
©

(D)

12
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The date of acceptance on a bill is 15" January 2011. The Bill is for a
period of 3 months. The date of maturity will be 1

(A) 15 April 2011
@B) 2™ April 2011
©) 3" April 2011
(D) 4% April 2011

@Wm@gﬁﬁﬁalmﬁQ@ll%iﬁaswﬁ%méiwﬁ
fafa arft

(A) 1 30d 2011

(B) 2 3md 2011

(C) 3 am 2011

D) 4 3d 2011

A Bill of Exchange generally has 1

(A) - Two Parties

(B) Three Parties

(C) Four Parties

(D) None of the above

S fafmg-u ¥ g ue S @

A Y
(B) = uw
(C) IR W

D) W H ¥ 3 W

Goods worth ¥ 5,000 taken by the proprietor for personal use will be
credited to 1
(A) Purchases A/c

(B) . Sales Alc

(C) Drawings Alc

(D) Creditors Alc

W 3 T 5,000 AU w1 A SRR ST & fAT SR ¥ R | @ s
@1‘” .

(A) =T @

(B) faspa @ran

(C)  AET @rdl

(D) e H @

13 P.T.O.




Suspense A/c given in Trial Balance will be entered in the
(A) Trading A/c

(B) Profit & Loss A/c

- (C) Balance Sheet

(D) None of the above

g @ s aege § fear gen @, o smom

(A) =OR @ H
(B «-gEfy @« i
(@ fofg fogwr &

(D) S R AR

Govinda, a mechanic, installed a machine in your factdry. The wages
paid to him should be debited to

(&) Wages A/c

(B) Machinery A/c

(C) Govinda’s A/c

(D) Cash Alc

ey St et 7, 3 o aed ¥ s A i & 1 o ueed =@ @
T ag AW § B iR

(A TsEh @l A
(B) WY W #
(C) wfa<r & @@ A
D) U=g @ #

Goods destroyed by fire, should be debited to
(A) Purchases A/c '

(B) Sales A/c

(C) Loss by fire A/c

(D) Drawings Alc

e S A W ¥ A @ AW (Efr) @ =R
(A) =7 =@

(B) fesht @

(© oW 9 ' g

(D) 3R @i

14
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11.
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Rent paid amounting to ¥ 500 was credited to Rent A/c with ¥ 500. In

rectifying entry Rent A/c should be debited by

(A)
(B)
(&)
(D)

3 500
7 1,000
T 1,500

None of the above

fere & faT few 7TT T 500 &1 M, BT @ & S T 500ﬁava?‘wq|gfé'§%m

wfafy # foe @) & W # forg o =ifRw
(A) T 500

B) T 1,000

(C) T 1,500

(D) 3SWRE A ¥ HE T

Sales Return Book was overcasting ¥ 100. In the rectifying entry Sales

Return A/c would be
(A) Debited by T 100
(B) Credited by ¥ 100
(C)  Debited by T 200
(D)  None of the above
feshar Ao @@ & T 100 s fr@ T 1 R guR iy § fsed e @i &
(A) T 100 ¥ M (Debit) f&m sm@m
(B) ¥ 100 ¥ ST (Credit) fFan smam
(C) T 200 ¥ 9 (Debit) f&Far smem
(D) 3IWw # ¥ FE A&
15 P.'Iv'.O.‘



12. Depreciation on Assets arises due to ’ 1

13.

14.

35

(A) Physical wear & tear of the Assets

(B) Fall in market value of Assets

(C) Fall in the value of Money

(D) None of the above

FERE W B HE H HROT A ¢

(A) TR @ ifas STEm g @5

B) wRE & TER qF § FH

(© T s

D) IN® F T FE T

Under original cost method of charging depreciation the amount of
depreciation 1
(A) Increases every year |
(B) Decreases every year

(C)  Remains constant every year

(D) None of the above

TR T Iod W g o &1 fafy § g & ofy

(A) R o aed @

(B) & of sed ?

(C)  wfq o o wd 2

D) W H§ FE T

Discarding the old machinery due to new invention is called 1
(A) Delﬁreciation

(B) Amortisation

(C)  Obsolescence

(D) Depletion

T WY ¥ SR W g weh @ uRam FEen @

(A) 8™

(B) ufEnew

(C) sT™eH

(D) =

16




15. A machine was purchased on 15 Jan., 2008 for ¥ 50,000. Its life is |
10 years and scrap value ¥ 3,000. Total Amount of Depreciation upto
" the end of 3™ year ie. 31.12.2010 according to original cost method

will be 1
(A) - T 15,000

(B) R 14,100

(C) R 4,700

(D) X 5,000

T W & A 1 SWEd 2008 & T 50,000 § fRAr M | IEe Stad e
10 3 ¢ @ s/l god T 3,000 @ | € Fui % e # srafq 31.12.2010 &
TR AFd IS0 ¥ N N W g H Fe A9 @

(A) T 15,000
(B) % 14,100
(C) T 4,700
(D) 5,000
16. Loss on Sale of Machinery is transferred to 1

(A) Reserve Ale

(B) Machinery Alc

C) Proﬁt & Loss Alc

(D) Depreciation Fund Alc |
W & o ¥ g wif w eERe e S R
A) T Ea W

(B) Wi @ &

(© - ax #)

(D) T &Y @K W

17 P.T.O.




15. A machine was purchased on 1% Jan., 2008 for ¥ 50,000. Its life is |
10 years and scrap value ¥ 3,000. Total Amount of Depreciation upto
the end of 3™ year i.e. 31.12.2010 according to original cost method

will be 1
A) T 15,000

(B) T 14,100

(C) T 4,700

(D) < 5,000

& Y9 &0 % 1 S 2008 & T 50,000 ¥ R AT | I€e  SER @e
10 3% 8 7= STl ea T 3,000 @ | @ =l % o A srafq 31.12.2010 F
TR A TS ¥ B9 @M W W g I @

(A) T 15,000
(B) T 14,100
(C) T 4,700
(D) 5,000
16. Loevs on Sale of Machinery is transferred to 1

(A) Reserve Alc

(B) Machinery Alc

(C) Profit & Loss Alc

(D) Depreciation Fund A/c |

mi % frd & g Y A s G s 8
@A)

(B) Wi W @

(C) ww-gia @ H

(D) BH FW @ H

17 P.T.O.




17.

18.

19.

20.

35

What is meant by Bill of Exchange ? Give the format of a Bill of
Exchange with imaginary figures.

fafrgg o w1 AT 8 ? S ofiee oo fafmg o w1 g dfu |

What Journal entries will be made by a Drawer in his books when
(1) a Bill is drawn and accepted by the drawee

(i1) a Bill is discounted

(iii) a Bill is dishonoured
wm@amm>mwﬁwmwﬁmmﬁ
() oo foer S 2 3R WieRs 30 WeR & o g

G) foer @ T W AR a b

(i) foa feepa & < @

From the following transactions pass the necessary journal entries in
the books of Amar :

Babu owed ¥ 5,100 to Amar. On 15 January, 2011 Babu accepted a
Bill for ¥ 5,000 for two months drawn by Amar in full settlement of
his debt. On 18%™ January, 2011 Amar endorsed the Bill to his
creditor Chatur. The Bill was dishonoured on the date of maturity.

frafafgd SRl ¥ TR & JEsl # oTevEs AsEmer wfafEat S
g T 5,100 § IR F RN 4 | 15 ST 2011 H W g fafed 2 @@ W

T 5,000 F T 97 T oA W€ 99 4 @HER R 1 18 SHEd 2011 i
R A T o F IO THER I H a9 W fean | grm fafs | faw fegd

M|

Explain the meaning of errors of commission. Give any two examples

of such errors.

dw Iyfedl () & o F Aren ST | 39 OYER S SR F % @

- 3R T

18
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22.

23.

24.

25.

26.

35

State any three examples of errors which will affect the profit or loss

of the business. 3

T el i Red & Seer ART R e B Stger g il @ |

What is meant by ‘Diminishing Balance Method’ of charging

depreciation on Assets ? Explain with a suitable example. 3

TEiE WA (I W JOTS § g Hed § I O a8 7 39w
IR AR TR |

Explain any three objects of charging depreciation on Assets. 3

TRl W OB wEd & el i 3ty W gHwe faf@y |

A Ltd. purchased Machinery on 1% April, 2010 for T 50,000. Its life
was expected to be 10 years. Its estimated scrap value at the end of
10 years was % 5,000. Find the amount of depreciation to be charged
to Profit & Loss A/c every year under the original cost method. Also

calculate the rate on which depreciation is to be charged every year. 3

1 30, 2010 ® U fafee 3 w "9 T 50,000 ¥ ® # | IWH gl
STed FA 10 a9 o7 | ITH STAIT R ed 10 a9 & o # T 5,000 o |
TR A fafy & 9 o anr-ae ' # fadl S oarer g @ i @ e
FC | g o B9 T o W H A i

What are the different options available to the receiver of a Bill of

Exchange ? Explain. 4

s fafma o % sl @ #@E-eE 9 fafe fee stee € 2 guem |

Rectify the following errors through passing Journal entries : 4

@) Motor car purchased for the son of the owner
T 3,00,000 has been debited to Motor Car A/c.

(ii)) Travelling expenses paid to a travel agent
T 3,000 have been debited in his personal name.

frfafaa smifedl & Usamrar wfafsdl g gaRe

(i) Tfas & 3@ & faT T 3,00,000 § TeX IR & HT & 0@ Ul FX TR
% | § femr

() ¥ 3,000 IO =TI H AW TN T & sAfRd AW H efae A e
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27. State giving reasons whether the following statements are correct or
incorrect :

28.

29.

35

(i)
(ii)

(iii)

(iv)

Suspense A/c always shows debit balance.
Goods given as charity should be credited to Purchases A/c.

It is incorrect to debit Repairs account for amount spent on the
repairs of plant purchased second hand.

Goods taken by the proprietor for domestic use will be credited to
Drawings Alc. '

FHNUT Gfed ddeT 6w f=fafea 99 @ € 91 o

@)
(i)
(iii)

(iv)

Il W Ged AW 9 femer § |

T ¥ AT e W Y WA d ST R S 7 |

T TR % GlE W I W W 9 @ AONd @ & A § faga
F TG SAYE B

fers g0 @ % IYA F U A T8 WA @ oRgl SN @ & S
¥ forgr sam |

Rectify the following errors :

1)
(ii)

Goods sold to Mohan ¥ 5,000, entered in Purchases Book.

'Goods returned by Kalia ¥ 300 entered in Returns Outwards |
Book. :

Frfafan sryfsdl @ wé AR

()
(i)

e & T 5,000 oF & IS F fast @ e w7 e § e ma
Fiferr g0 ¥ 300 & A F oA w5 YT wy e 96 ¥ s

Explain the following :

(1)
(ii)

(iii)

Parties to a Bill of Exchange
Noting charges

Renewal of a Bill

frafafag & =ran siNe .

1)
(ii)

(ii1)

T fafmg @ & o

fraas =g
faa &1 T dHEwET

20




30.

31.

32.

35

On 1 dJuly, 2010 Rahi sold goods to Brij worth ¥ 6,000. On the same
day Rahi drew a Bill of Exchange on Brij for the amount payable after
three months. Brij accepted this and returned to Rahi. The Bill was
duly paid on maturity. Record these transactions in the books (Journal)
of Rahi and Brij.

1 o 2010 & T 3 B A T 6,000 F oW d=r | 3@ T wE A g€ Ul
& 3 WM 9 I, o fam W B 4 wieR W | goe faa fofy @@
T | TS g B S e (USAER) W3 Aol & aEied #iT |

Rectify the following errors :

) The cost of a Typewriter ¥ 800 was debited to Office Expenses
Ale.

(ii) Bad-debts recovered ¥ 550, but not entered in the books of
accounts.

(iii) Goods purchased T 7,500 from Savi was debited to his account.
(iv) Discount allowed ¥ 750 was credited to Discount Receivable A/c.
frfafaa swyfedl @ guiRe .

() & RIS & AFG e T 800 Fe =g @i & AW § fer@r w |
() T3 gL = @ agel T 550 F @ w@Ed § @ A

(i) T 7,500 F AT & WEl | T F G 39S @ § AW forar |

(v) T 750 F B @, AT I T @A H A (Hfee) fram @ |

On 1% July, 2007 Sharbati Ltd. purchased machinery worth ¥ 40,000.
On 1% July, 2009 they bought additional machinery for ¥ 12,000. On
30th June, 2010 half of the machinery purchased on 1.7.2007 was sold
for ¥ 10,500. The company writes off 10% on original cost annually.
The A/cs are closed every year on 31" December. Show Machinery A/c
for the years from 2007 to 2010.

1 S@E, 2007 & I fafes 4 w6 A30= T 40,000 F %7 H 1 1R, 2009
H 32 TH IR WY # %9 T 12,000 ¥ R 1 30 S[H, 2010 N SET 9N
3T M F W 1.7.2007 T H R @, T 10,500 § o= fE@m M 1w
g g9 e o H 10% B9 F 9 H FRed & | @ ufa af 31 feweR

F T B E | g9 2007 ¥ 2010 9% & WA @A dOX HRT |
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(iii) Typewriting (Theory) English/Hindi
Zaur () st/ T

General Instructions :

(i)
(ii)
(iii)
(iv)

(v)

This part has 11 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial no. 1 to 5 are of 1 mark each. Answer of these
questions may be from one word to one sentence.

Questions from serial no. 6 to 10 are of 2 marks each. Answer of
these questions should not exceed 60 words each.

Question serial no. 11 is a long answer question. Answer of this
question should not exceed 120 words.

qarg 29T :

35

(1)
(ii)
(ii)
(iv)

(v)

59 9 F o7 11 99 & 1 79 yvT It §
% & 3% J97 & GET fer T F

T GeEr 1 G5 % & 59% 599 1 W%?‘/WW%W@W
g % Gy 7% & Fed & |

97 GET 6 § 10 7% T&% 599 2 Sl & & [ 57 599 § @ IUF F THK
60 VIS @ s g @ TR |

o7 G&Tr 11 aﬁmwmé‘/wmwmmo vl § 3w T8
g TR |

What is a stencil paper ?

Sfger YR =1 g g ?

What for is a Stylus Pen used ?
WEd seMm & WA &g fau fen s @ 2

Which Proof Correction symbol is used to say ‘insert comma’ ?

‘Seufe® ST @ %W%WWWMWW%Wa}m%?

Give the symbol used for indicating ‘do not begin a new paragraph’.

T AedT AR 4 W 9g ewi % fou faww s fea S 2, 9 d@%a

T |
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Give the fuil form of .

T @1 gof w9 T |

Give the meaning of the following Proof Correction symbols :
(1) trs.

(ii) stet

frfefaa & deig gaal & o9 saRy

1) trs.

(i)  stet

How are corrections made on a stencil ?
Ciga W deied 39 RS9 § 2
Give full forms of the following abbreviations :

(1) M.L.A.

i) UP.C.
frrafefas deaed & gof &9 T -
@ MLA.
(i) U.PC.

Give the standard abbreviations for the following :
1) Errors and omissions excepted

(ii) Office order

(iii)  October

(iv)  Value Payable Parcel

frafafas & T a9s daarr ST

() g% SH-3R
() AT R
(iii) TR

(iv) HH& I&d T
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10.

11.

35

What is Stencil Plate ? State its uses.
Bfad we #= Bd 8 ? 9% S9N §aRT |

Explain the process of cutting Stencil on a Typewriter.
OR

What steps should be taken for the development of speed
accuracy in typewriting ? '

TRl W Lfd e & fafy avgme |
3Aqar

TEwEfe § M T YEa agn & fau s #ed 32 9 e 2

24
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